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. Choose the correct sequence of sentences to create a logical paragraph:

®

B,A C D

b. A B,D,C

e

C,A BD

d. D,B,AC

Answer. b

Total Questions 100
Difficulty Level Difficult
Duration 90 minutes

A. The weather forecast predicted heavy rain.

B. People rushed to the grocery store to buy supplies.

C. The thunderstorm arrived, causing flooding in some areas.
D. Schools and businesses closed for the day.
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A. The movie had a surprising twist at the end.

B. The characters faced many challenges throughout the story.
C. It was a captivating and emotional film.

D. The audience left the theatre with mixed feelings.

2. Arrange the following sentences to form a coherent paragraph:

a. B,C,A D

b. C,B,AD

¢. AB,CD

d. D,B,CA

Answer. b

3. What part of speech is the word "beautiful" in the sentence: "The beautiful sunset painted the sky with vibrant colours"

a. Adjective
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o

Adverb

¢. Noun

d. Verb

Answer. a

4. What is the word for the practice of taking someone else's work or ideas and passing them off as one's own?

a

Paraphrasing

b. Plagiarism

¢. Quotation

d. Attribution

Answer. b
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5. What is the word for a sudden and violent overthrow of a government, often by a military group?

a. Revolution

b. Rebellion

¢. Coup

d. Uprising

Answer. ¢

6. In the sentence, "She gave her umbrella to him," what are the pronouns?

a. She and Him

b. She and Umbrella
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¢. Her and Him

d. She and Gave

Answer. *bouns*

7. Identify the pronoun in the sentence: "They arrived late because they missed the bus."

a. They

b. Arrived

¢. Late

d. Missed

Answer. a

8. What is the adjective in the sentence: "The red car sped down the highway."
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a. The

b. Car

¢. Sped

d. Red

Answer. d

9. What is the adverb in the sentence: "He ran quickly to catch the bus."

a. He

b. Ran

¢. Quickly

d. The
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Answer. ¢

10. What is the antonym of "happy"?

a. Sad

b. Excited

c. Joyful

d. Content

Answer. a

11. Select the synonym for "excited."

a. Bored

b. Enthusiastic
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¢. Calm

d. Relaxed

Answer. b

12. What does the idiom "burning the midnight oil" mean?

a. Starting a fire at night

b. Working late into the night

¢. Going for a nighttime swim

d. Celebrating a birthday at midnight

Answer. b

13. What is the meaning of the idiom "in the same boat"?



10/11/23, 6:51 PM mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrdCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*KoF5WP4WjFADfCNVpBuRebI3tSzlbenySK3llcQg8IhE0O9HNrSpadOPz. ..

et

Sailing in a boat together

o

Facing a common problem or situation

e

Competing in a race

d. Going on a vacation

Answer. b

14. What does the word "friendly" mean?

a. Unkind

b. Hostile

¢. Pleasant

d. Grumpy
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Answer. ¢

15. What does the word "gregarious" mean?

a. Shy

b. Friendly and sociable

¢. |solated

d. Aggressive

Answer. b

16. Read the following and based on it answer the question”

“Mohan loves to read books. He spends most of his free time at the library, exploring various genres. He believes that books are a
gateway to different worlds and ideas. Mohan's favourite books are adventure stories.”

Question:
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What is Mohan's favourite genre of books?

a. Mystery

b. Romance

¢. Adventure

d. Biography

Answer. c

17. Read the following and based on it answer the question”

“Rashmi decided to spend the day at the park. She packed a picnic basket with sandwiches, fruit, and lemonade. At the park, she found
a cozy spot under a tree and enjoyed her picnic. Afterward, she read a book and took a nap in the shade.”

Question:
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What did Rashmi do after having her picnic at the park?

a. Went swimming in the lake

b. Took a nap in the shade

¢. Played basketball with friends

d. Went shopping at the mall

Answer. b

18. Which sentence is grammatically correct?

a. He enjoy reading books.

b. She enjoys reading books.
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¢. They enjoy read books.

d. | enjoys reading books.

Answer. b

19. Choose the sentence with the correct spelling:

a. Apples are healty for you.

b. Apples are helthy for you.

¢. Apples are healthy for you.

d. Apples are helthi for you.

Answer. c

20. Fill in the blank with correct choice | my keys at home this morning.
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a. forget

b. forgets

c. forgotten

d. forgot

Answer. d

21. Mala's daughter is Sneha's sister. What is Mala's relationship to Sneha?

a. Aunt

b. Mother

¢. Grandmother
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d. Cousin
Answer. b
22.
The question given below consists of a statement, followed by two arguments numbered I and II. You have to decide which of the arguments is a 'strong'
argument and which is a 'weak' argument.

Statement: Should smoking in public places be banned?  Arguments:

I . Yes, banning smoking in public places protects non-smokers from the harmful effects of second-hand smoke.

IT . No, people have the right to make their own choices, and banning smoking infringes upon personal freedom. Options:

a. Only argument | is strong.

b. Only argument Il is strong.

¢. Both land Il are strong.

d. Neither I nor Il is strong.

Answer. a
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23. |dentify the figure that completes the pattern.

LN
NN

7
=

Answer. d
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24.

Five friends, A, B, C, D, and E are sitting in a row. A is to the immediate right of B. C is to the immediate left of E. Who is sitting in the
middle?

d. B

Answer. a
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25. The following pie chart exhibit the distribution of the overseas tourist traffic from India.

Tourists

= lapan Germany = USA = UK = Others

What percentage of Indian tourist went to either Japan or USA ?

.40 %

b. 45 %
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¢ 60 %

d. 70%

Answer. b

26. If today is Tuesday, what day of the week will it be exactly 60 days from now?

a. Monday

b. Wedneday

¢. Thursday

d. Saturday

Answer. d

27. If "APPLE" is coded as "BQQMF," what would "BANANA" be coded as?
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a. DCPCPC

b. EDQDQD

¢. FGMGMG

d. CBOBOB

Answer. d

28. In a certain code, A is coded as 2, B is coded as 3, C is coded as 4, and so on. How is Z coded?

a. 14

c. 21
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Answer. *bouns*

29.

In the following questions two statements are given and these statements are followed by four conclusions. You have to take the given
two statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide
which of the given conclusions logically follows from the two given statements, disregarding commonly known facts.

Statements:

All cats have tails.

Tom is a cat.

Conclusions:

A. Tom has a tail.

B. All cats are Tom.

C. Tomdoes not have a tail.

D. All animals have tails.

a. Only conclusion A is true.
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b. Only conclusion B is true.

¢. Only conclusion Cis true.

d. Only conclusion D is true

Answer. a

30.

In the following questions two statements are given and these statements are followed by four conclusions. You have to take the given
two statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide
which of the given conclusions logically follows from the two given statements, disregarding commonly known facts.

Statements:

All fruits are healthy.

Apples are fruits.
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Conclusions:
A. Applesare healthy.
B. All healthy things are fruits.
C. All fruits are apples.

D. All apples are healthy.

a. Only conclusion A is true.

b. Only conclusion B is true.

¢. Only conclusion Cis true.

d. Only conclusion D is true.

Answer. a
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31. Observe the graph below and answer the following question:

TARGETED VS ACTUAL

B Year M Targeted M Actual

2020

What would be the ratio of the minimum actual production to maximum targeted production?

a. 7:11

b. 8.5:10
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c. 12:14

d. 3:12

Answer. d

32. The bar graph below depicts the number of students in various classes at a school.

Class Vs Students

140
120
100
80
60
40
20 I I
v 1 2 3 4 5 6 7 8
m Students 25 40 65 80 100 105 115 120
W Class 1 2 3 4 5 6 7 g

W Class M Students
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What is the overall number of students from grades 6 to 8 as per the graph shown above .

a.130

b. 65

€. 340

d. 310

Answer. c

33. Read the following : Statement: All humans have ten fingers. Conclusion: John is a human.

Based on the given statements, which of the following conclusions can be drawn? Options:

a. The conclusion is valid.

b. The conclusion is not valid.



10/11/23, 6:51 PM mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrdCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*KoF5WP4WjFADfCNVpBuRebI3tSzlbenySK3llcQg8IhE0O9HNrSpadOPz. ..

¢. Insufficient information to determine.

d. John does not have ten fingers.

Answer. ¢

34. Amit's sister is Priya's mother. How is Amit related to Priya?

a. Brother

b. Father

¢. Uncle

d. Cousin

Answer. ¢

35. Amit is Tina's son. Tina's father is Rohit's brother. How is Rohit related to Amit?
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a. Father

b. Uncle

e

Grandfather

=

Brother

Answer. ¢

36. What is the next number in the series: 2, 4, 6, 8, ...?

c. 11
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Answer. b

37. Find the next letter in the series: A, C, E, G, ...?

d O

Answer. b
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3 g 18
5 2 14
6 4 ?

38. Find the missing number:

a. 16

b. 22

c. 20

d. 30

Answer. ¢
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39. Find the missing number in the series: 5, 10, 20,40, .

a. 60

¢. 100

d. 120

Answer. b

40. What is the next letter in the series: A, C, E, G, ...?
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Answer. a

41. What is the LCM of 12, 18, and 24?

a. 12

b. 18
c. 24
d. 36

Answer. *bouns*

42. What is the HCF of 56, 72, and 84?
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b. 14
¢c. 18
d 24

Answer. *bouns*

43. If a rectangular garden has a length of 12 feet and a width of 8 feet, what is the ratio of length to width?

a. 3:2

d. 34

Answer. a
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44. If 3 machines can produce 18 widgets in 4 hours, how many widgets can 5 machines produce in 6 hours using the unitary method?

a. 30 widgets

b. 40 widgets

¢. 60 widgets

d. 90 widgets

Answer. *bouns*

45. A shopkeeper purchased a shirt for Rs 40 and sold it for Rs 60. What was the profit percentage?

a. 20%

b. 33.33%

¢  40%
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d. 50%

Answer. d

46. An item originally priced at Rs 120 is sold at a 20% discount. What is the selling price after the discount?

a. Rs. 24

b. Rs. 96

¢. Rs. 100

d. Rs.144

Answer. b

47. What is the imaginary unit denoted as?
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d. v2

Answer. a

48.

A car's value depreciated by 15% in the first year and 10% in the second year. If its original value was Rs. 2,00,000, what is its value at
the end of the second year?

a. Rs. 1,65,000

b. Rs. 1,53,000

¢. Rs. 1,62,000

d. Rs.1,80,000

Answer. b
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49. What is the value of tan (45 degrees)?

d -0

Answer. b

50. What is the coefficient of the term x*3 in the expansion of (2x - 3)A5?

a. 120

b. -120
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d. 80

Answer. *bouns*

51.

A ladder is leaning against a wall. The ladder forms a 45-degree angle with the ground. If the ladder is 12 meters long, how far is the
base of the ladder from the wall?

a. 6 meters

b. 12 meters

¢. 8 meters

d. 9 meters

Answer. *bouns*

52. A cyclist covers a distance of 45 km in 1.5 hours. What is the cyclist's speed?
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a. 25km /h

b. 30km /h

¢. 35km/h

d. 40km /h

Answer. b

53. If the diameter of a circle is 16 units, what is its circumference?

a. 50.27 units

b. 45.72 units

¢. 62.87 units

d. 39.21 units
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Answer. a

54. What is the simple interest on a sum of 10,000 for 5 years at 10% per annum?

a. 1,000

b.  %2,000

¢. 5,000

d. 10,000

Answer. ¢

55. Which of the following inequalities represents the statement: "The product of two negative numbers is positive"?

a. x<0andy<0

b.  x<0ory<0
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c. x>0andy>0

d. x>0o0ry>0

Answer. a

56. Which of the following numbers is a perfect square?

a. 36

¢. 49

d. 55

Answer. *bouns*

57.1f 25% of a number is 30, what is the number?
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a. 120

c. 75

d. 150

Answer. a

58.If 3x + 5 = 20, what is the value of x?
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d. 15

Answer. a

59. Which of the following is the correct value of 3 2 / 3?

d. 27

Answer. *bouns*

60.

In a class of 40 students, 24 study mathematics, and 18 study physics. If 12 students’ study both subjects, how many students study
either mathematics or physics?
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a. 24
b 30
¢ 36
d. 42
Answer. b

D-X)1 qwel Test name :

Study the following table and answer the questions based on it.

Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.
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Item of Expenditure
Year Salary Fueland Bonus Intereston Taxes
Transportation Loans
2018 310 37 3.00 22.4 43
2019 367 43 3.95 28.75 46
2020 422 98. 5.00 36.75 68
2021 380 84 4.10 3215 54
2022 400 90 4.80 34.80 59

61. What is the average amount of interest per year which the company had to pay during this period?

a. Rs. 32.43 lakhs

b. Rs. 33.72 lakhs

¢. Rs. 34.18 lakhs

d. Rs. 30.97 lakhs

Answer. d
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62.

The total amount of bonus paid by the company during the given period is approximately what percent of the total amount of salary
paid during this period?

a. 1.11%

b. 0.5%

c. 1%

d. 0.1%

Answer. a

63. Total expenditure on all these items in 2018 was approximately what percent of the total expenditure in 2022?

2. 62%

b. 66%
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€. 71%

d. 69%
Answer. ¢

D-X)2 qwel Test name :

Study the following chart which gives the data for monthly household expenditure (In Rupees) of Amar. He earns Rs 60, 000per month.

Answer the questions based on these data only.
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Monthly House Hold Expenditure

5,000 3500

1,260
2,700 ' N
25,000
4,500 7
8,000__°
= Rent = Groceries = Ltlities Transportation

= [nsurance = Entertainment = Miscellaneous =

64. What percentage of monthly Rent does Amar pay of the total monthly expenditure?

2. 60%

b. 50%

¢. 35%
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d. 45%

Answer. b

65. What percent of Amar’s income is spent to meet the total monthly expenditures?

a. 62%

b. 48%

c. 70%

d. 83%

Answer. d

66. What is the percentage of expenses on Entertainment over household expenses?

a. 12%
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b. 10%

c. 28%

d. 6%

Answer. b

67. A family records their monthly expenses for three consecutive months. Here's their spending data: Month 1: 325,000 Month 2: 328,000

Month 3: 230,000 What is the average monthly expense for this family?

®

26,000

b. %28,000

e

27,667

d. 29,000

Answer. ¢
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D-X)3 qwel Test name :

Suppose you are a financial analyst at XYZ Corporation, analysing the company"s quarterly sales data for the fiscal year 2022-2023. The
company deals in electronic gadgets. You are given the following information for the four quarters of the fiscal year:

Quarter 1 (Q1) Sales: 5,00,000 Rupees

Quarter 2 (Q2) Sales: 6,00,000 Rupees

Quarter 3 (Q3) Sales: 8,00,000 Rupees

Quarter 4 (Q4) Sales: 7,50,000 Rupees

68.

If the company wants to achieve a total sales target of 30,00,000 Rupees for the next fiscal year, how much more do they need to achieve this target
compared to the current year's total sales?

a. 3,00,000 Rupees

b. 4,50,000 Rupees
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¢. 2,50,000 Rupees

d. 3,50,000 Rupees

Answer. d

69. What percentage of the total sales does Q1 represent?

a. 18.87%

b. 22.64%

C. 26.42%

d. 16.85%

Answer. a

D-X)4 qwel Test name :

Study the following line graph and answer the questions based on it.
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Number of Vehicles Manufactured by Two companies over the Years (Number in Thousands)

Number in Thousands

100 92
» 78 81 76
c 72
g <0 81
2 51
48
2 60 “ 47
=
= 40 —
o
= 20
Q)
=
- 0
o 2019 2020 2021 2022 2023
Years

0 Of Vehicles Manufactured Star Motors

No of Vehicles Manufactured Diamnond Motors

70. What is the difference between the number of vehicles manufactured by Diamond Motors in 2019 and 20237

a. 50,000

b. 42,000
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¢. 39,000

d. 21,000

Answer. ¢

71. What is the average numbers of vehicles manufactured by Star Motors over the given period? (Rounded off to nearest integer)

a. 3600

b. 7500

¢. 4200

d. 5800

Answer. *bouns*

72. Which company produced more vehicles and by how many?
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a. Star Motors by 8,200

b. Diamond Motors by 8,200

¢. Star Motors by 5, 800

d. Diamond Motors by 5, 800

Answer. *bouns*

D-X)5 qwel Test name :

Study the following and answer Questions:

There are 200 persons. Number of persons like to consume Tea or Coffee is depicted below

T- Represents -Tea

C- Represents - Coffee
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T H C
20

73. Number of students who like only one of tea or coffee.

a. 80

b. 70

¢. 20

d. 100

Answer. d

74. Number of persons who like at least one of tea or coffee.
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a. 150

b. 110

¢. 180

d. 200

Answer. ¢

D-X)6 qwel Test name :

Based on the following answer the questions.
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Monthly Temperature (Celsisus) Temperature

25 21
20 18
15
15 17
10
S
0

lanuary February March April May

75. In which month was the temperature the highest?

a. January

b.  April

¢. May
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d. March

Answer. ¢

76. Calculate the average temperature for the first three months (January, February, March) based on the provided data.

a. 15 degrees Celsius

b. 18 degrees Celsius

¢. 13 degrees Celsius

d. 20 degrees Celsius

Answer. a

D-X)7 qwel Test name :

(Data Analysis and Data Comparison)

Given below are the data of sales (in thousands) of two companies.
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Based on it answer the questions.

Sales of ABC Company Sales Sales of XYZ Company Sales

= January = February = March = April = May = June = January = February = March = April = May = June

77. In which month did XYZ Company had highest sales in Comparison to Company ABC.

a. January

b. March

c. April

d. May
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Answer. d

78. In which month both the companies had the same sales?

a. January

b. March

c. April

d. June

Answer. d

79. Each of the questions below consists of a question and two statements numbered |

and Il given below it. You have to decide whether the data provided in the statements are

sufficient to answer the question. Read both the statements and give answer:
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How many students passed the math exam?

| . The total number of students in the class is 40.

Il . The pass percentage for the math exam is 70%.

a.

The data in statement | alone is sufficient to answer the question, while the data in statement Il alone is not sufficient to answer the
guestion.

b.

The data in statement Il alone is sufficient to answer the question, while the data in statement | alone is not sufficient to answer the
question.

¢. The data in statements | alone or in statement Il alone is sufficient to answer the question.

d. The data in both the statements | and Il is not sufficient to answer the question.

Answer. d
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80. What is the time taken to travel from City A to City B? | The distance between City A and City B is 300 kilometres.

Il The speed of the vehicle used for the journey is 60 kilometres per hour.

a.

The data in statement | alone is sufficient to answer the question, while the data in statement Il alone is not sufficient to answer the
qguestion.

b.

The data in statement Il alone is sufficient to answer the question, while the data in statement | alone is not sufficient to answer the
guestion.

¢. The data in statements | alone or in statement Il alone is sufficient to answer the question.

d. The data in both the statements | and Il is not sufficient to answer the question.

Answer. *bouns*

81. What does “Vasudhaiva Kutumbakam” mean which was the theme of G-20, 2023?
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a. Save the earth

b. One Earth, One Family, One Future

¢. Unity in Diversity

d. Peace all over

Answer. b

82. What is the name of the Rover of Chandrayaan -3?

&

Vikram

b. Chandragupta

e

Vigyan

=

Pragyaan
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Answer. d

83. The Indian Army has recently inducted 600 self-neutralizing anti-tank mines, known as.....

a. Vaibhav

b. Chaitanya

¢. Milind

d. Agni

Answer. a

84. Which of the following is the oldest known civilization in India?

a. Indus Valley Civilization

b. Vedic Civilization
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¢. Maurya Empire

d. Gupta Empire

Answer. a

85. Which of the following was the first Indian woman to become a president?

a. Indira Gandhi

b.  Pratibha Patil

¢. Sushma Swaraj

d. Sonia Gandhi

Answer. b

86. Which of the following is the national animal of India?
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a. Tiger

o

Elephant

e

Peacock

d. Lion

Answer. a

87. Who wrote the book The Discovery of India?

a. Mahatma Gandhi

b. Sardar Patel

¢. Subhash Chandra Bose

d. Jawahar Lal Nehru
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Answer. d

88. The full form of ILO is:

a. International Labour Organization

b. Indian Labour Organization

¢. International Land Organization

d. Indian Land Organization

Answer. a

89. Where is the famous Sun Temple situated?

a. Udaipur

b. Konark
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¢. Nalanda

d. Delhi

Answer. b

90. Who became the champion of IPL, 2023?

a. Sunrisers Hyderabad

b. Mumbai Indians

¢. Gujarat Titans

d. Chennai Super Kings

Answer. d

91. In the Chess World Cup 2023, who became world's youngest player to reach the Chess World Cup final?
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&

Viswanathan Anand

o

Gukesh D

e

Rameshbabu Praggnanandhaa

=

Pentala Harikrishna

Answer. ¢

92. Which foreign leader, here for the G-20 summit was stranded in India for over 36 hours after his plane developed a snag.

a. Joe Biden

b. Justin Trudeau

¢. Giorgia Meloni

d. Rishi Sunak
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Answer. b

93. Which actress is making a comeback with the film 'Sukhee'?

a. Raveena Tandon

b. Juhi Chawla

¢. Mandakni

d. Shilpa Shetty

Answer. d

94. What is the only Indian company on TIME magazine's 2023 list of the world's best companies?

a. Infosys

b. Tata Consultancy Services
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¢. Wipro

d. HCL Technologies

Answer. a

95. Who is the chairman of Reliance Industries?

a. Neeta Ambani

b. Mukesh Ambani

¢. Anil Ambani

d. Ishita Ambani

Answer. b

96. Why was the President of The Wrestling Federation of India (WFI), Brij Bhushan Singh Suspended?
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a. Charges of graft

b. Charges of concealing the identity

¢. Charges of Misappropriation of Funds

d. Charges of Sexual harassment and Stalking

Answer. d

97. What is the full form of POSH?

a.  Prevention of Social Harassment
b.  Prohibition of Sexual Harassment
¢.  Protocol of Sexual Harassment

d. Prevention of Sexual Harassment
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Answer. d

98. Which of the following is a famous quote by Swami Vivekananda?

a. "Arise, awake, and stop not till the goal is reached."

b.  "Education is the manifestation of the perfection already in man."

¢. "The only secret of success is to do the common thing uncommonly well."

d.  "You have to dream before your dreams can come true."

Answer. a

99. What is the difference between saving and investing?

a.  Saving is something that you do with a short-term goal, while investing is something that you do with a long-term goal.

b.  Saving is putting money aside for future use, while investing is using that money to make more money.
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¢.  Saving is something that you do with a low-risk investment, while investing is something that you do with a high-risk investment.

d. Saving is something that you do with a liquid investment, while investing is something that you do with an illiquid investment.

Answer. b

100. Where is the Film and Television Institute of India Located?

a. Mumbai

b. Chennai

C. Pune

d. Kolkata

Answer. c

Test Question Language:- HINDI
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A. The weather forecast predicted heawvy rain.

. B. People rushed to the grocery store to buy supplies.
1. Choose the correct sequence of sentences to create a logical paragraph: P groveny =X yeupe
C. The thunderstorm arrived, causing flooding in some areas.

D. Schools and businesses closed for the day.

a. BA,C,D

b. A,B,D,C

c¢. C,A,B,D

d D,B,A,C

Answer. b

A, The movie had a surprising twist at the end.

B. The characters faced many challenges throughout the story.
C. It was a captivating and emotional film.

0. The audience left the theatre with mixed feelings,

2. Arrange the following sentences to form a coherent paragraph:

a. B,C,A,D
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b. C,B,A,D

¢. A,B,C,D

d D,B,CA

Answer. b

3. What part of speech is the word "beautiful" in the sentence: '""The beautiful sunset painted the sky with vibrant colours"

a. Adjective

b. Adverb

¢. Noun

d. Verb

Answer. a



10/11/23, 6:51 PM mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrdCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*KoF5WP4WjFADfCNVpBuRebI3tSzlbenySK3llcQg8IhE0O9HNrSpadOPz. ..

4. What is the word for the practice of taking someone else's work or ideas and passing them off as one's own?

a. Paraphrasing

b. Plagiarism

¢. Quotation

d. Attribution

Answer. b

5. What is the word for a sudden and violent overthrow of a government, often by a military group?

a. Revolution

b. Rebellion

c. Coup
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d. Uprising

Answer. ¢

6. In the sentence, "She gave her umbrella to him," what are the pronouns?

a. She and Him

b. She and Umbrella

¢. Her and Him

d. She and Gave

Answer. *bouns*

7. Identify the pronoun in the sentence: "They arrived late because they missed the bus."

a. They
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b. Arrived

c. Late

d. Missed

Answer. a

8. What is the adjective in the sentence: "The red car sped down the highway."

a. The

b. Car

¢. Sped

d. Red

Answer. d
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9. What is the adverb in the sentence: "He ran quickly to catch the bus."

a. He

b. Ran

¢. Quickly

d. The

Answer. ¢

10. What is the antonym of "happy"?

a. Sad

b. Excited

¢. Joyful
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d. Content

Answer. a

11. Select the synonym for "excited."

a. Bored

b. Enthusiastic

¢. Calm

d. Relaxed

Answer. b

12. What does the idiom "burning the midnight oil" mean?

a. Starting a fire at night
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&

Working late into the night

¢. Going for a nighttime swim

d. Celebrating a birthday at midnight

Answer. b

13. What is the meaning of the idiom "in the same boat"?

a. Sailing in a boat together

b. Facing a common problem or situation

¢. Competing in a race

d. Going on a vacation

Answer. b
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14. What does the word "friendly" mean?

a. Unkind

b. Hostile

¢. Pleasant

d. Grumpy

Answer. ¢

15. What does the word "gregarious" mean?

a. Shy

b. Friendly and sociable

c. Isolated
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d. Aggressive

Answer. b

16. 16. Read the following and based on it answer the question”

“Mohan loves to read books. He spends most of his free time at the library, exploring various genres. He believes that books are a
gateway to different worlds and ideas. Mohan's favourite books are adventure stories.”

Question:

What is Mohan's favourite genre of books?

a. Mystery

b. Romance

¢. Adventure

d. Biography



10/11/23, 6:51 PM mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrdCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*KoF5WP4WjFADfCNVpBuRebI3tSzlbenySK3llcQg8IhE0O9HNrSpadOPz. ..

Answer. ¢

17. Read the following and based on it answer the question”

“Rashmi decided to spend the day at the park. She packed a picnic basket with sandwiches, fruit, and lemonade. At the park, she found a
cozy spot under a tree and enjoyed her picnic. Afterward, she read a book and took a nap in the shade.”

Question:

What did Rashmi do after having her picnic at the park?

a. Went swimming in the lake

b. Took a nap in the shade

¢. Played basketball with friends

d. Went shopping at the mall

Answer. b
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18. Which sentence is grammatically correct?

a. He enjoy reading books.

b. She enjoys reading books.

¢. They enjoy read books.

d. I enjoys reading books.

Answer. b

19. Choose the sentence with the correct spelling:

a. Apples are healty for you.

b. Apples are helthy for you.

¢. Apples are healthy for you.
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d. Apples are helthi for you.

Answer. ¢

20. Fill in the blank with correct choice I my keys at home this morning.

a. forget

b. forgets

c. forgotten

d. forgot

Answer. d

21. QT Gl ATl 9810 3HTg. aR Hiall 3101 |l Ald 1 S&d?
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a.w
b. 3T
c. 3ol

d. gd YIS 3Ydl S50l

Answer. b

22.

Tl feciean UTd faeT 3118, TR 1 30T 11 ShHichTd GIF [add 3HTed. BT Jiaddle =1’ giaddia 3Tg AT Iurdr
DU I GIKIAIG 3MTg T IV AT 3T,

faur=: e fEHTo YHu™ HRUaN Sl 3rTa 12

RICSEICE

I BN, qrauHe (STl Y ddt dhed™ YUUT = HROMAHT YRIAT GG RS THTATIRE TRE&UT fiesd.

I T8, A I Wad-21 as! HRugm ISR ] ST YU Sl 9Taul qafadd Wia=ard Sead .
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qaiy:

a. o gfoqdig 1 Aoled 3G

b. TRl YfekidTa 11 Holge 3Te.
¢. 1 3f1fOr 11 SIg Hofee 3R,

d. 1 fdbar 11 SrOg! Aelgd T8I,

Answer. a

9
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. K4

V&4
b zz
B
Answer. d
24.

A, B, C, D 30T E 3% U fi5 U1 3T 99 3MTed. A 81 B N T Ioldidb s 3Tg. C E T T SAIdhs T, AHTN B0l
ERNECIRE,
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b. C

d B

Answer. a

25. FIehd UTg d1¢ HRATIT TR Tt aTeqe d [aaRuT Ue Rid &

Tourists

= Japan Germany = USA = UK = Others
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ot ca URd e s fahar smfved e

a. Yo 9,

b. ¥4 %

c. §o0%

d. 9o 9

Answer. b

26. SR 3T HITBAR e, TR AU €o @il e HIvrdT fGad srfer

b. FHaAR



10/11/23, 6:51 PM mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrdCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*KoF5WP4WjFADfCNVpBuRebI3tSzlbenySK3llcQg8IhE0O9HNrSpadOPz. ..

C.W

d. AR

Answer. d

N N

27.SR "APPLE" AT "BQQMF" 3 ®I8 &l 3RId, TR "BANANA" AT BT U HIS bl Sad?

a. DCPCPC

b. EDQDQD

c¢. FGMGMG

d. CBOBOB

Answer. d

28. Uoh1 fAfRIY Pledw, A R UM Pls dhdl SId, B 3 TUH HIS bl 1d, C ¥ TUH PHle dhal SId, 0T 3. Z DS HY bl Slld?
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b. %

Answer. *bouns*

29.

Trditd v g faum el smed onfor a1 faem=iar IR sy sied. TreTa faaa & faem [rT=id: Id aeaaeT 5 sed
3y gTed 3Rd aig! df et I TG arTdrd. fsens g Siftr FaR WHad: I aids gael deed, fadedl i [aumHeYd
HIUTd FHY ATfhH 0T SERN HRAld d o1dl.

faem:

cIH U HioR 378,
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R
A ZTETT 97 4.
B. 74 /I T AT,

D, T TTTTT ST S

qaiy

a. Thad (pY A T 3R,

b. Trad PN B I 3Tg.

c. Thad (Y ¢ I 318,

d. Wad fAspy D T 3R,

Answer. a
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30.

T yHHe o faum el snga snfor ar e TR ey g, qreTen fadied 3l Ry T arHTdt amTdi S ot
QTG A diueT i Sed. sy g sl FaR Imraa: 1d s s gadl ®ed, faaedr aF faumiyT v ey
AUl STHRUI HRATd o ol

faem:

Id s RFIeRI 3RydTa.

PTG Bes IR,

A. TETET AITETET AT,
B. 7 TR TIET S T

a. Thad hY A T 318,
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b. Trad Y B I 3Tg.

c. had sy ¢ g 3118,

d. ad (%Y D T 318,

Answer. a

TARGETED VS ACTUAL

B Year W Targeted W Actual

31. Gritel SHTerar=l fAR1&0T T 31for Wieiiel U8 IR 0:

2019

T Uér g SO ST Aigdd STgTd MR el 3rer?
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a. \o: 22
b. (.4: %o
c. R:W

d. 3: R

Answer. d

32. et IR 3MTeiRg WSl fafay auiidie fammeaf=h e gxiaar.
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R cRifaciedr STARaTIR 3T & o ¢ Tehd faemeafht uepor TRem fadt sire.

a. 3o

b. &4

¢c. 3¥o

d. 320

Answer. ¢

33. &l aran: faum™: d AMaiH gl dic 3.

freepy: SiF U 7% 3%

feaiean faui=an 3MyR WU ! HIUd Y Biedl Adic?
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. f=py 3y aiR.

&

=n

. e 9y AR,

e

Feffid HRuarmdt mfedt ge=ht e,

=

Siial gl dic ATeld.

Answer. ¢

34. 3fererit SgToT T oS 3iTg. St =it S deiy 3ig? Uiy -

b. gaid
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c. PIPI

d. FoAd YIS SHYaT FgIul

Answer. c

35. S{fHd BT SR T 3fTe. TH Jeid Jfead US> 3MTed. JAfgaan Sl H1 ey 31g? v -

d. HIS

Answer. ¢
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36. QT Yeid ST HIUKT 3MT]: R, ¥, &, ¢, ...2 T :

c. N

d. R

Answer. b

37. Afeiebile GId 31&R RNLT: A, G, E, G, ...2
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¢. F

d. O

Answer. b
3 g 18
5 2 14
6 4 ?

38. TIGT5 HHIP MeT:

a. &

b. R
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c. R0

d. 30

Answer. ¢

39. HrfcTopdiiel TTeTes AT ]MET: &, %o, R0, ¥o,

a. go

¢. Qoo

d. Ro

Answer. b

40. Hfereb et geidl 31&R BIUIG: A, G, E, G, ...2
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d. F

Answer. a

41. 93, 3¢, 3101 ¥ AT I BT Q2

a. R

c. R¥
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d. 3%

Answer. *bouns*

42. 4&, 93 3ATOT ¢ ¥ T AIIG BT 3MTg?

A R
b. ¥
¢ %
d.

Answer. *bouns*
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b. :3

C. x3

d. 3%

Answer. a
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o
AN
o

=2
oC
o

o
£n
o

=Y
e
(¢}

Answer. *bouns*
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45. U1 GHGRI ¥o ST VT WG Hal AT §o JUTHT fddhdl. aR AT TR cahar] favd! gIe?

o

. 0%

o

33.33%

i

¥0%

d. Qoo

Answer. d

46. g5 fhTd g0 ST il ax 0% el [deball SITd. IR Jadiar-iaR fashra fdhad fdbdl 3mg?

a. %, ¥

b. ¥.]8%
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c. o Q00

d. 3 Q¥Y¥

Answer. b

47. HTUH Thd B UM ifad Sa?

d

Answer. a

48.
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DR T Ul auf Qu ST0T gu=aT Iuf Q0% = TR¥RT. SR M Heb e ¥ R,00,000 3T AR GU-=T AN Rige! AT Jed Tl
3

o

- 9. 2,84 000

b. ¥. ¢ 43,000

e

o, 2,&‘\),000

d. % Q0,000

Answer. b

49. 7 (Y 372) A e BT 3177

b. ¢
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C. _2
d. _o
Answer. b

50. (3 - 3)" =T FARIRTHE x3 QTR {UTh BT 3TG?

a. Qo

c. (o

d. (o

Answer. *bouns*
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51.

wﬁe"r&gﬁwéﬁrﬂ 31Te. RIST SIfAINTg ¥ u- 3R I Sad. SR RISt R HicR did 3¥d, TR Rt ura fHdurg fact
SRTAR 3T?

7

g

R AR

e

¢ Hiex

(=9

. iR

Answer. *bouns*

52. YOHAWR Q.4 drTd ¥y fhdt 3faR SUa), R Are adRIET o9t fobdt 3mg?

a. bt /ar

b. 3o fordft /ar
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c. 34 fopdt /ar

d. Yo fopdl /

Answer. b

53. TeTIT N %6 Uhdh I, T R ol ea?

o

- Lo RV Uchdh

g

¥4, 9 Udhdh

e

&R.CO Uhh

(=9

AR

Answer. a

54.3%0,000 T IHHGR 4 THHIST 0% AP G- H1& AT fobel! ST
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a. Q000

b. 3R 000

¢. Iy 000

d. 30,000

Answer. ¢

55. G| IV SR e Ufaffeia e "aiF U1 G-l TOIHR 89 3ar?

a. X<03-|Tﬁ[y<o
b. X<°ﬁ7_cﬂy<0

c. x>0 &l‘lﬁTy>o
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d. x>0 ﬁv_cIT y>0

Answer. a

56. @rciterdep! biuTel TeAr uiyuf af sfrg?

a. 3§
b. ¥4
c. ¥R

d. yy

Answer. *bouns*

57. SR TETET TT 4% 30 3T d¥ ot T fobd 3a?

a. Qo



10/11/23, 6:51 PM mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrdCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*KoF5WP4WjFADfCNVpBuRebI3tSzlbenySK3llcQg8IhE0O9HNrSpadOPz. ..

b. Ro

c. Ly

d. o

Answer. a

58. 3x + 4 = Y0 AN, x I Jed fohell 3132

d. ey

Answer. a
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59. WIATAUDT 3R /3 RIS G DI

a. 3

b. §

d U
Answer. *bouns*

60.

yo fagmeat=ar avid, R TOTAMT 3R BT 30T 98¢ HIfdH ARG 3T HRATd. OR 2R faemeff et fawam= s #ad, &R
Tt faemeff wifora fobar MfdeRarT 31ary Hda?
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¢ 3%
d. ¥R
Answer. b

D-X)1 qwell Hindi Test name :

W daATET 3T BT ATIOT ATAR TR T I .

THT=AT T
= T B AT AT FTATTT ¥
TETF =T
Sate %o 2 3.o0 292.¥ e
So%® Tty 13 30 329y 75
Fove 9% L L TR gl LA
3029 e &t 490 33,9y 4
3033 foe % { L R ue

61. JT BT hu-Ial xas! IRIER! fobel! TSt ITa AT



10/11/23, 6:51 PM mahajyoticbt.thinkexam.com/admin/index.php?Token=ejg5sYpLcrdCgufjz1Gt+kURC5q*xVxJNPU5qOLX9NyyLhUtnbQ4u*KoF5WP4WjFADfCNVpBuRebI3tSzlbenySK3llcQg8IhE0O9HNrSpadOPz. ..

a.%, R.¥I A

b.>. 33.9% T

€. %, 3¥.{¢ ol

d. . 30.R19 ¢IY

Answer. d

o

62. fged FHrarasiid dhu-i faaial ST THUI Igh Y T Sladdid HReled! WIRTHT THUT IhHAT il fddl cadb 3Tg?

a. 2.3

b. 0.4,

c. %

d. 0%
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Answer. a

63. 03¢ Y TT TG ST6IaR AT THUT W R0 Al THUT WA 3igTet fobelt o giam

a. §3%
b. &&%
¢. 9%

d. §%
Answer. ¢

D-X)2 qwell Hindi Test name :

JeTd daaTdT 31T BRI Sl SR IS PIciadh Ward! (FUdid) b saRr] gRiddl. df &R AR-ATl §0,000%0Y HHTA]

thad IT SCTaR UG Uyi=h ST 1.
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Monthly House Hold Expenditure

5,000 3500

1,260
2,700 \
25,000
4,500 V
8,000___°
= Rent = Groceries = Utlities Transportation

= [nsurance = Entertainment = Miscellaneous =

64. 3R TRUT HIRYeh T fabell carch HIfyeh HTS Gl

a. 0%

b. 4Lo%,

¢ 3U%
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d. ¥4,

Answer. b

65. AR IATH el cadh YadhH THUT HIfH T HITIUIRITS! W et SiTdl?

a. §%
b. ¥(%
c. 909,

d. (3%

Answer. d

66. TR WGATUET HARSHIGRI Gdrd! cahaR] fdhl 3MTg?
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a. R%

b. 0%,

c. U%

d. g%

Answer. b

67. THIC Hed T il Afg AT ARG Gard! g dd. U AT Fardl Sel 3MTg: HigT ¢: 34,000

AT R: 2¢,000

'H'[%T-ﬂ 3: 230,000

T HETTS TRIRY H1RYp T fabelt 31182
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a. IYg,000
b. 3¢,000
¢ 3R,589

d. IRR,000

Answer. ¢

D-X)3 qwell Hindi Test name :

TS TFl XYZ DIARRAD T fa=Reivdh 3MT8Td, 0%3-30%3 T TP quidt ot faarg! fash! Scrd fa=eiyur #vd 3MeTd.
HU SATCHD TeicTdl SHIER . TeTdl i auredr IR farArgiars! W Afga fae sime:

fommgT 2 (QY) fawt: W 00,000 TTY

faTg! R (QR) fashl: &,00,000 TTY

foHTg! 3 (Q3) Tt ¢ 00,000 ¥TY
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fHTR! ¥ (Q¥) faht: v, 40,000 TUY

68.

HUHTE Yeid e auiara! 30,00,000 TUHTT UHUT fashid @16l BT 3, TR T auTedT TR Ul fash T ga-id il § d&d
ST SR fabcll IdehH gl 31Tg?

b

3,00,000 FCl'a

=n

. ¥,40 000 m

i

{,40,000 S0

(=%

- 3,140,000 Sqf[

Answer. d

69. QY UpUI fashia fobeil TabaRt axifadl?

a. %¢.09%
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b. R.8¥%

¢ R&.¥X%

d. ?&.L4%

Answer. a

D-X)4 qwell Hindi Test name :

WA YT TG ST 101 ATaR ST U= I <.

IufAe S HUH IdTfed BT dTg- T-AT (ST goIRIHeE)
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Number in Thousands

100 92
° 78 81 76
= 72
m 80 a1
§ 51
48
2 60 T 47
£
= 40 —
o
= 20
al
-
= 0
2 2019 2020 2021 2022 2023
Years

— o Of Vehicles Manufactured Star Motors

MNo of Vehicles Manufactured Diamnond Maotors

70. SOHS Hiedq 0¢R 10T 3033 Y IATEd ol dTg-1T<dT T d BHT1 B 315?

a. L\o,ooo

b. ¥ 000

C. 3%000
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d. RQ,000

Answer. c

71. fedied Hraadid TR Aed- IdTfad dboedT arg-Td! TRIRT ST fol 38?2 (Aol QUi adid Julid)

o

. 3{oo

b. koo

e

¥o00

d. Koo

Answer. *bouns*

72. HIUTHT HU-A AH{R qTg-ia SIS ol HTOT fahdl?
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a. TR Hied ¢,300 F

b. STIHE HICU ¢,300 A

¢. WRHARHA &, (oo

d. SIIHS HITH ¢ R00 7

Answer. *bouns*

D-X)S qwell Hindi Test name :

TTelTel ST 31T T SHTIOT U8 IO =

R00 G 3. I8T fdhdl HIth! T SIS UMT S o WA WTelt gRidal 3]

T-Tea E"Qfa?f

C- Coffee E'Qh?f
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20

73. T ad 98T bl Bk STded 3= fa=meais I,

a. /o

b. \9o

c. 0

d. 00

Answer. d

74. U Uh 5T fohdl DIt SHTASUIRIT kit TS,
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a. 4o
b. Q0
c. Qo

d. Q00
Answer. ¢

D-X)6 qwell Hindi Test name :

Jad U= TR 3T <L,
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Monthly Temperature (Celsisus) Temperature

25
20 18
15
15 17
10
5
0

lanuary February March April May

75. HIUTAT A=ATd Fdid SIRd aTgqT gld?
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d. 99

Answer. c

76. YT ol STl YR UfgedT - Afg-=aredT (AT, We[aRy, AT TRIIRT aTqHTT T0HT 6.

a. QY 3T A3

b. Q¢ 3T A3

c. 93 3 AR

d. Y0 3 VRT3
Answer. a

D-X)7 qwell Hindi Test name :

(ScT fazayur 3for Se1 ga)

@Te I g fas e Sel (8R! 7e) faa 3ie.
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TR TR Uit IR =1,

Sales of ABC Company Sales Sales of XYZ Company Sales

= January = February = March = April = May = June = January = February = March = April = May = June

77. SUAT ABC T a-d XYZ HU-TdT B0l Hig=aTd aiieidb fasht Sieh.
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Answer. d

78. HIUTAT ARATd Glvo! HUA [deh! IHM BIdl?

b. AR

c. o

d.
Answer. d

79.

QT feeedT Ud ULTHE U U STT0T T el feciedT 1 31707 11 shHib ™I g fau™ 3ed. [AumiAe faaar Se Uy IR
SUGTTST QRET TR DI ATel & el 6d1d. Gl-al [aUT aTa ST ST <:

TTforeTeAT TRiard fobdt faemedt Sitol gl
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I St Ul fammeaidl TReT ¥o 3T,

1 TIord wiad Sxiivl IvaTRl eddhaRt oo, 378,

a. fayT 1 9id SeT Udhel Uy STk GUATRITST QRAT TR, TR a4 11 Aefie SeT Udhel Uy STk GUIRITS! RET AT,

b. fqu 11 Geftel ST Thel Ui SR UATHTST IR 3178, R fa4T 1 Aefiel Sel Ushel UsiTd 3k UaTHTa ! QR HTs!.

c. ohdes fqUM 1 fhar faem 11 Aefiet ST Uy IR U JRAT 3G

d. 1 3107 11 Giel faumHe ST Uy TR STarITa! T4 ATgl.

Answer. d

80. JER A  TEX B WA YA SRUTMTS] fobcll 98 ANTAI? T X8R A ST 18R B TER 3R 300 fhaliHieR 31Te.

I UdMETETS! aTuRed] SITUT=T arg-IaT o di=i go fhdHiey 31g.
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a. fayT 1 9id SeT Udhel Uy STk QUARITST RAT 318, TR a4 11 Aefie SeT Uhel Uy STk GUARITS! RET AT,

b. {34 11 Gefiel ST Udhel UsiTd SR UATTST RET 3118, R fa4T 1 efiel Sel Udhel UsiTd Sk qUaTHTa ! R ATs!.

c. PHaw fqur 1 fdhar faum 11 Afia SeT U IR STarTe! YR o1l

d. 1 3107 11 G-l faumHeta ST Uy TR TaRIT3! T4 ATgl.

Answer. *bouns*

81. G-30, 3033 T A ST “TYYd Feadp T T1 31 B 3HTg?

o

. g dredl

=n

. b G, Th $¢d, Tob Hid™

fafaedd uman

i

a4 iad

=
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Answer. b

82. g -3 =T g A1d B 3112

fas

e

d. UIE

Answer. d

83. YR AR 3Meidbad oo Wq4-Mehy coh-faRiet Wrulfar TH1a= ot 311g, S T........ U Hid@d .

a. dyd

b. T
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.. fiftie

d. 3t

Answer. a

84. GTATAUD T YR qaTd ST I Sl IO SHTR?

a. Ry TPl
c. HRf gHETT

d. T Ty

Answer. a

85. GcTUo! Ufgel YR Higdl JAFUCH HI0T St Bicit?
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a. iR IR
b. gfaur ardia
c. YYHT WRIST

d. I el

Answer. b

86. FIeTUeh | HRATAT IS YTl HIOTT 3MTg?
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d. g

Answer. a

87. ¢ {SThog’l 3 $1ST 8 T Hivil feffget?

a. [T et

b. IRGR U

c. gHIVIE I

d. SaEdd Ag®

Answer. d

88. ILO d JUf 1 31Tg:

a. JTARIPII HTHIR FeT
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YRAIG HTHTR e

&

¢. TP FTHI ForeT

d. YR SHIE GdeHdT

Answer. a

89. URRTg QIR HIS 382

a. IGAR

c. dTdar

d. et

Answer. b
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90. JPL, 3033 T TR DI0T §cT?

. RIS gelEg

o

=n

i

oRId clHdc—

e

Answer. d

91. §igaes fayae 033 A, I fayaudmT=AT 3ifad HRId UIGIIUIRT ST Haid aoUl WBTS HIUT 3IdT?

a. fayTY 3

b. Th &l
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c. YUY UL

d. derar gikepw
Answer. ¢

92.

G-30 RRER IRYGHTS PIvrar tReRi =¥dl, AT f[AHHId 3reues FHul STeiaR 36 ANigH S 13 URATd SH- sl gidl.

<]

S ACEE|

=n

EIERIENIE]

e

(=%

. BY YD

Answer. b

93. T FIAUCTgR HIUK S TRITHA #3d 3MTg?
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a. G ¢S

b. gl aTadl

c. HeHAt

d. fRreqr gt

Answer. d

94. TIME HIRIBTAT 3033 AT STAId JardH HU=ai<dT rdidid Thad R hU-t HIoral?

a. DI

b. TTeT p-Hec-Ol Afeaq

c. famn
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v v
d. TIGIUd eSSl

Answer. a

95. AT SN 31egel HI0T Mga?

a. idT e

b. Heh=T faTHl

c. 3{fe e

d. SR farHl

Answer. b

96. G eI xR 1t Sfear (WFI) d s{eaef fasrywur R i &1 fAeifad sruard sir?

a. QEERT 3RY
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b. 3feavg AUfAIET 3R

c. fAefin TRATIR Hem=r IR

d. Afiip T ST UTSANT hedrEr R

Answer. d

97. POSH QU A1d 1T 3HTg?

g B Ulde Y

bt

. AT T vy

=3

NIUCAEERIEEIN

e

(=9

. AP T Ufdey

Answer. d
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98. WefIeTdeh| IUTG WTH fIdep e UG S0l (aTe) 32

a. "3IoT, SR ogT, HTIOT T MU UTe Tehl."

b. fRI&01 § AT 3MTefie SR URYUid HeheTehRum 3Te."

¢. "YU UhHG 15 UM GTE TP SR-ATHIYT! IiHTedT UHTR Bl

d. T WY FATT JuaTgd| JFRTel WY UrgTdt anTa.

Answer. a

99. ST 3OT ATV TTd BT TR 332

a. §Id Bl 3R TP 3T Sff T gD ST BT, IR YA ol =0 MY 315 St g | aradIen (e SRIg Hdl.

b. FId UM HAHTH T ATRITST U SN[l 390, TR Tdau[ds FeUTs! T U= e 0 HHAUIMTS! aTuR HR0.
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C.

ad 51 =AMy 311 St Jle! HH! ST [daued g Hdl, aR JddU ol =N MY 3Te Sl ral 3= SIRgH T dau[s g
Hl.

d. §Id g1 =M MY 3{Te SNt Iie! faifebs aaule g hdl, R adu[d a1 =M MY 3Tg Sl I Sifcifee Jdaudmag Hl.

Answer. b

o

100. fireH 3fg Cfafegom 3Recye i SFEAHIS 377

d. BBl

Answer. ¢

Test Answer
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1. (b)

11. (b)

21. (b)
31.(d)

41. (*bouns*)
51. (*bouns*)
61. (d)

71. (*bouns*)
81. (b)

91. (¢)
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2.(b)

12. (b)

22. (a)

32.(c)

42. (*bouns*)
52. (b)

62. (a)

72. (*bouns®)
82. (d)

92. (b)

3.(a)

13. (b)
23. (d)
33.(c)
43. (a)
53.(a)
63. (c)
73. (d)
83.(a)
93. (d)

4. (b)

14. (¢)

24. (a)

34. (c)

44. (*bouns®)
54. (¢)

64. (b)

74. (c)

84. (a)

94. (a)

5. (¢)

15. (b)
25. (b)
35.(c)
45. (d)
55. (a)
65. (d)
75. (¢)
85. (b)
95. (b)

6. (*bouns®)
16. (¢)

26. (d)

36. (b)

46. (b)

56. (*bouns*)
66. (b)

76. (a)

86. (a)

96. (d)

7. (a)

17. (b)
27. (d)
37. (b)
47. (a)
57. (a)
67. (c)
77. (d)
87.(d)
97. (d)

8.(d)

18. (b)

28. (*bouns*)
38. (c)

48. (b)

58. (a)

68. (d)

78. (d)

88. (a)

98. (a)

9.(¢)

19. (¢)

29. (a)

39. (b)

49. (b)

59. (*bouns*)
69. (a)

79. (d)

89. (b)

99. (b)

10. (a)

20. (d)

30. (a)

40. (a)

50. (*bouns*)
60. (b)

70. (c)

80. (*bouns*)
90. (d)

100. (c)



